Lo s Og;&mm Ccr;/s»&/ww. W%\

—_—

) deCE) =D & At uwbs

[eg

2) m(ii?) C ()= -3

s oo, o Er avedfur "’Md""'?;&—
5"'\“]0“‘0\/‘-5 —a et
b e Erpnluas [z%imm
- /?)‘”W”‘“

A ) “ﬁ/ é?ﬁ‘“’p\l‘.
Q%WO@«

— r‘esou'uié‘w\"
— B appled 6 x ofw)noidfwy.
_U‘ur-f Scadey i






— Ax-A=0, é“"l_—> =0

—= For a nm—trwed X 65%%1‘1"@@\“

—qé~A1WN*MMWMS

— deb(A-KL )=0
" L/
+Han b edledh e chovactosd-bic WL]M

oCA) “3’ A
—VERN IMPORTANT

MM wvePhe

ek £



| ) -A
e AGE), Aa=(0)

A AN )= -GN =4 =0

|

=7 |-20h*-4=0 A*-2A-3=O

= () C2A) 34 =D,

— /\:,|l A~2 A=S .






O
5 A= C l 0> |
az.xc/ﬁ\:/\l)—,aw( A ’1\ ) = A¢| =0
A=, A=«
A==

l l) D»Omuw 7{ WorBrces




